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a. Distinguish between investment and géhbling. Q*
v 9)
‘(_sé;i‘narks)
{
&
b. List FIVE (5) types of bonds. f\‘)(\l‘
N \;\’ (5 marks)
OQ
NS

c. Qibiven below is the stock market reported at New Strait Times dated 15
—~ (L;?f\}“ October 2015.

(\;7\
\/'\' Counter Code Open Day Q‘ Day Last Change Vol ‘00
High© | Low
IRIS - 0010 0.40 042 0.38 0.39 -0.01 232608
MEMS 0052 0.51 R0.53 0.51 0.52 ;81 81438
ECM 2143 0.66 Q- 0.66 0.65 0.65 REXY 65939
MOBIF 0042 3.304"| 3.38 3.30 3.34 ( V0.04 63358
MVEST | 1902 0.60" 0.60 0.56 0.56 .\ -0.04 62518
?.\
Based on the information: ('b@‘
i}y Whatis IRIS stock code? \>’

i) at is the opening price for MEMS on 15 October 20157

( o -
= ~{g-ﬂi) What is the closing price for ECM fn 14 October 20157
S - q |
Q,‘Q" . \ : O. )
\/’\, iv) Which counter has the hlgl:ng"sppr[ce for the day?
o
N
v) How many units are%QEST shares being traded for the day?
\}r (5 marks)
g
d. Malamini Company pays a RM 0.15 fixed dividend every montl'(@':d the
required rate of return is 8% per year. _.i‘D
i) 8§}culate the preferred stock value. - Q@d , _
O ‘b@ (5 marks)
+5 . Ay
< AY;
Q
™
Q
,\'f\’)
\Y,
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iiy Explain with justification whether an investor should or should not

buy the stock if a stock is currently selling at RM 15.

(2 marks)

conveitible bonds. The 6%, RM 100 bond will mature in 10 years.

Conversion price is at premium of 25%, and the company's common
shares are now trading at RM 32 per share. Calculate:

A
O’\'
i) Thelgdnversion price Q“k
e {% | (/O (2 marks)
@ -.S
ol .
\‘/\,(\,7 iiy The conversion ratio {\,{\LP‘ , . Q“L
\ . (8 marks)
| &
itiy The conversion value : R
\}{\b {2 marks)

iv) Toial number of new shares to be issued upon conversion of the

O@ond (3 marks)

C
o
{ ;5“

S0

he management realized that the compani can increase its earnings
~ Q)Q‘ before interest and taxes from RM 15 6’§lhon to RM 45 million after

\',\' financing with convertible bond. At p\r%s@nt the company has 20 million
common shares outstanding. Tax @ie is 40%. Calculate the company's
earnings per share: (\,7@-
N
i} Before conversion Q‘{
(,o (8 marks)
o &
i) After full conversion (\L?‘
Q“l \/’\,@ (8 marks)
O o
{%
R
Q&
®
\Y;
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a. Rossie Bhd has issued warrants at allow the bondholders to buy one
common share at RM 15. The warrant is priced at RM 4.50 and the”
current maerE price of the common shares is RM 18. Calculate:

EIB 10903_Finance 2

Ip‘a theoretical value of the warrant < @ ‘ \L
. W <
ii) The warrant premium 5?-\ -
‘\'Q;Q“ (2 marks)
v
/ ™ i) What will happen to the premium if the common share price is RM
20? NL RV
O\ ~ (4 marks)
¢ &
\% o
i,‘,QiV) Should you exercise the warrant? .‘thitﬁt%y your answer. -
D >~ (24flarks)
W & O(;"ki
‘ v
b. The call option of AG Bhd stock has a striking price of RM 20 and a cqg(
of option RM 2 per share with one month expiration date. The nt
market price of the share is RM 15. If you buy 2 lots of shares,\a/\AIculate
the profltf or losses at the expiration date for each of the following
rices
, PricesgY
R \%
f\ﬂ\ RM 20
Q)Qk Q-{ (5 marks)ﬂ -
oY o :
i) RM 30 n:(%
(\1}\ : (5 marks)
D .
v 3
ii) RM 18 ) (JOQ
\’:5 (5 marks)
R
&K
o v
&
\ B
Qj?*
R
AV, 3
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Question 4

a. Briefly explain the THREE (3) investment constraints faced by investors.
Q‘x . - {6 marks)
b. Lady Bhd i€Anterested to invest in bonds. Currently its financial manager
is ev@i ing Bond A and Bond B. Bond A pays 10@ coupon semi-

anql.%lly and matures in 10 years. Bond B pays 15@ coupon annually
\fieving a maturity period of 5 years. @(S
i) Determine the.value of each bond\iﬁ%e current interest rate in the (\)}"\
market for both bonds is 14%. \}Q)
(10 marks)
ii) Explain with justification, if the market price for both bonds are RM
104, which bond would Lady Bhd buy? Q
(_,O O‘Q (2 marks)
G C ‘
& 0
& A 7%, 20-year bond issued 6 years ago is q}enﬂy priced in the market
Q' at RM 96. Determine the bond's yield-togfRrturity. A
o A OQ
v . g Grlarks)
, &
d. Preferred stock is frequently called as hybrid security. Explain. /\,Jf\’“
\}' (2 marks)
<
R
U
o
9
{%
a. Patchi Airlines just paid a divi of RM1.00 per share. The dividend is
expected to grow at a rate\/qﬂl % per year for the next 3 years and then
to level off to be fixed 10%. The market return is 20% per y@ﬁ.
Calculate the intrinsic value of the stock. J e
Xy
% (10 marks)
Q <%
P v
)
4
&
X
O
4
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b. Natasha Bhd. is expected to pay a divigfnd of RM 2.00 next year. The

investors required rate of retumn is @6 What would be the value of
Natasha Bhd.'s common share if ty:l:ompany’s common share dividend

is expected to grow at a constan&@éte of 5% per year? Q{
(bQ‘ OO (4 marks)
4\(
v S
)
c. List THREE (3) advantages of investing in common shares. Q-?'Qd
Qo 3 mark
\} (3 marks)
d. Describe FOUR (4) characteristics of common shares.
' ' (8 marks)
&
Y qQ 3
° P R
Y‘Q‘ END OQbUESTION PAPER N C
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